[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.0
0.005

q

..............................................

..............................................

............................................

o
+

................................

o

.-

Ratio

o
3]

R L N | LA AR A LA LRRRN LR AR RRREN LRRRN LALR

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001_ Global__CMSSW_ckfnocut2_RECO
Efficiend —— pom_v0001_R000000001__ Global__CMSSW_mknocut2_RECO

~ 0.05 : : : : :
Q.045f -+ wcbeoeeee e R R oo
[ : : : : :
> 0.04f ---erseeeeerioneens SR s
a . H : : :
9.035 : foneens P S
o . N : :
£0.03 : feees AR R -
© : : : :
0.025 : .
0.02 : 3 -
0.015 : j
0.0
0.005
q

0.8

Ratio

-30 ) 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
1S
=0.08
£0.07
z
c 0.06]
[}
£0.05
(0]
0.04
0.03
0.02
0.03 :
¢ e ; T ;
+ il
B

-10 5 0 510 15 20
Sim. PV z (cm)

"

_|_|_|+|_|_|_|||L||||||||||||||||||||

Ratio

D




	Contents
	Page 1


